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1. Alglel Zal= AASH ol2lel &4 MM E7|ZZ Sof 0|2 AFE = EAIE = 3.
AAtE= 7| E Z23 [ = AAtE= 7|E Z3ab | che
A EEM 1000][ 5t 0 |[CFU/mL|[1,2-ClE22-3-Z2=2= 2T 0.0030|5t |E2ZE| mg/L
St & =4dE =@ E|[/100mL 1,4-ClO| S 4t 0.050[ 3t =4dE| mg/L
e PN =HE =4 Z|/100mL e RFEA 4.00[st 0.53 | mg/L
=1 0.010]| 38t =4dE| mg/L ZE2|=2MHE 0.10|st 0.024 | mg/L
24 15015t | 2HZ| mo/L 2zzz= 0.080[3t [ 0.015] mg/L
H| A 0.010|3t [2AZ] my/L H2or| 2220 et 0.030l5t [ 0.007 | mg/L
Ml & 0.010l3t [2AZ| mg/L Cle2a 2220 0.103t [ 0.002| m/L
) 0.0010/5t |2AHZ| mo/L S=2sto| =20l E 0.030l5t  [0.0020] mg/L
Al ot 0.010lst [|=&HZ| mo/L CI2EZ220IMELEZ 0.10|5} BAHZE| mg/L
EE] 0.050|3t [2AZ] mo/L 2220t ELEZ 0.090l5t [0.0031| me/L
o Lot Al A 0.50]| st =4Z| mg/L EZ|Z22olMEHEZ 0.0040[|5t [2HZE| mo/L
ESPNYEESPN 1005t 2.1 | mg/L S 2OoMElofA| = 0.10lst | 0.002| m/L
IIE& 0.0050[|5t [2HZE| mo/L ZEUH S = 0.50]| 35} =BE| mg/L
2= 1.00]| 5} =4dZE| mg/L a= 3000] 5} 70 mg/L
B EMY 0.010]|35} =4Z| mg/L DZIAMZE AH| 2 100| st =4Z| mg/L
H & 0.0050|5t | EHZ| mo/L AR HAIL 2 A | s -
Cto|obX| = 0.020]| 5} =4Z| mg/L S¢ ol g2 A | gl= -
ol2lEl 2 0.060| 3t =4dZE| mg/L T2 10|35t =4dZE| mg/L
HUE=ZxX& 0.040]| 5} =4Z| mg/L ME 50] st =HE| &
et 0.070|3t [2AZ] mo/L M| 0.50|5t |2HZE| mo/L
1,11-E2| 2220 et 0.105t |2HZ| mo/L 40|25 % 5.8~8.5 7.2 -
EEEEENEE 0.010|3t [2AZ] mo/L ofed 30| &t 0.006 | mg/L
Ez|ZZ2 2o 0.030[ st =4Z| mg/L Ha0l2 2500]| st 20.4 | mg/L
CIZ=2=2M gt 0.020| 3} =4dZE| mg/L SUNFE 5000] st 135 | mg/L
Il 0.010|5} =4dZE| mg/L A 0.30|35} =4dZE| mg/L
=5 0.70|st =4dZE| mg/L Uzt 0.050[ 3t =4dZE| mg/L
NEER 0.30|5t |2AHZ| mo/L Et 0.50| 5t 0.05 [ NTU
A 0.50]| st =4dZE| mg/L 2o 2 2000] st 13 mg/L
11-ClE22 2ol 0.030[ st =4Z| mg/L UR0|E 0.20[st =4Z| mg/L
ALE StER 0.0020|st | EHZ| mo/L of 3t of u
=y M TEE 2 o2E gtFof $Hel, -
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1. Alge Ail= AAEH o]l &1 MM BI|2% Sofl 0| & ALS £ A = 83,
AAtet= 7|1= Aot | ke AAtet= S Zup | ke
ol HhM| 1000]| 5} 0 |CFU/mL| |1,2-CEl222-3-222Z=Z2HX| 0.0030|5t |[=&HZE| mg/L
St & =4dE =4 Z|/100mL 1,4-ClO| S 4t 0.050|8t [E2ZHZ| mo/L
e S =HE EAZE|/100mL T THRE A 4.00|5} 0.57 | mg/L
e 0.010/3t [=2AZ| m/L ZE2|s2HE 0.1013F [ 0.015] mo/L
PN 1.50] 5} 0.44 | mg/L Szezn= 0.080l3t [ 0.005]| mo/L
FIES 0.010/3t [=2AZ=| m/L EEEEEEE 0.0303F [ 0.006] mo/L
RIEr= 0.010]3s} =4Z| mg/L ClEZZEZZHEt 0.10]|s} 0.004 | mg/L
) 0.0010l5t [2AHZ] mo/L S 2250/ =20 E 0.030I3F [0.0025] mg/L
Al ok 0.010/3t [2#Z=| mo/L ClE22otdELES 0.10l3F  [0.0006| mg/L
EE 0.050/3t [=2AZ| mo/L CIZ2R0MELEY 0.09015F  [0.0037] mg/L
otR Lot A A 0.50]| 35} =4dZE| mg/L Ez|Z2ZZ2oMEHEH 0.0040|st [EZHZE| mg/L
BAME A 100] 5} 1.9 | mo/L EENNENRNE 0.10l3F  [0.010| mg/L
t1EH 0.0050|st |24 ZE| mg/L ZEUH = 0.50|35} =4dZE| mg/L
H= 1.00]|5} =4dZ| mg/L z= 3000| s} 88 mg/L
HEMH 0.010]|35} =BE| mg/L DU EAMZEE A 100| st =BE| mg/L
= 0.0050[|3F [2HZE| my/L =HAY HMztgls d| sl -
Cto| oKX = 0.020] 35} =8E| mg/L Sf slol glg A | el -
olz2te| 2 0.060] 5} =BE| mg/L T2 10|st 0.011| mg/L
HUEZxX2 0.040] 35} =8E| mg/L A= 50| st =SHE| T
et 0.070/3t [=2AZ| mo/L M| 0.50|at [2HZ[ m/L
1.11-E2| 22 20| &t 0.10lat [2HZE| m/L Sa0l25E 5.8~8.5 7.2 -
HEzIZZZo| 2 0.010]35} =BE| mg/L ot 30|35} 0.022 | mg/L
EZ| 2220 2d 0.030] 35} =8E| mg/L ol 2500] 5} 458 | mg/L
FEEET 0.020/3t [=2AZ| mo/L Zurtgs 50005} 215 | mo/L
Il 0.010|5} =4dZE| mg/L A 0.30|35} =4dZE| mg/L
=5 0.70|st =4dZE| mg/L azt 0.050] 5} =BE| mg/L
NECE 0.30|at [2ZHZE| m/L Bt 0.50|5} 0.06 | NTU
=L 0.50[5} =BE| mg/L 2o 2 2000] 5} 18 mg/L
1,1-CIE220 23l 0.030] 35} =BE| mg/L UZ2o|E 0.20]| s} =BE| mg/L
ALE BHER 0.0020[|3F [2HZE| mo/L ol 3 of e
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1. LM 100CFU/meo| st 0 31,01 2 &I 0.3 mg/40]| st
2. 50 &AL =AE/100m =4dE 32. 343 0.5 mg/40[ 5}
3.tHE =AE/100m =4dE 33.1,1-ClZZ 20 && | 0.03 mg/£0|5t
4 ZHMYEAT =2HE/100mL - 34 AtESHEEA 0.002 mg/f£0|5t
5. 0.01 mg/40| 5t 2HZ  [ss12-tizze-3-22zz=28 (0.003 mg/l0|5t
6.8 1.5 mg/£0| 5} =HE [36.22SI0|=20|E 0.03 mg/£0[5t
7.8 0.01 mg/£0[ 5} =4dE 37.C|EZRotMELEE 0.1 mg/£0[ 3t
8. M5 0.01 mg/£0[ 5} =4dE 38.CIEZ20otMELEE 0.09 mg/L0[ 5}
9.72 0.001 mg/£0| 5t =4Z 39.E2|22 2ot ELEZ 0.004 mg/L0|5t
10. Al 2F 0.01 mg/£0[ 5} =4dZE [40.ZZ20lMEoME 0.1 mg/40[ 5}
11.35 0.05 mg/L0l5t E4ZE |41 .REITFED 4.0 mg/00| s}t
12, 2ot & A 0.5 mg/f0lst, =HZE (424 300 mg/40] st
13. &AM A A 10 mg/40l5t 1.5 43 D7 M2 AH| 10 mg/£0[5t
1422 1.0 mg/f0lst =HZE [44.9HM 23 F
15.7tE& 0.005 mg/f0l5t =&HZ [45.5¢ 0|
16.H = 0.005 mg/f0lst =2&#Z [46.72/(Cu) 1 mg/g0lst EHE
17.Cto|OkX| = 0.02 mg/L0l8t EHE |47 4T 5E0lst EHE
18.of2|E[ 2 0.06 mg/£0[5t =4dE 48 MM (S0l 2A HEM ) 0.5 mg/40[ 5} =4dE
19. 1L EZE|2 0.04 mg/L0[ 5} =4dE 49 20|28 5.8-8.5
20.7tH1E 0.07 mg/L0lSt] &&HZE |50.0tA 3 mg/Lolst =2HE
21 . EEe| 20 g 0.1 mg/£0| 3t 0.026 51. 22402 250 mg/£0| st 19.2
22.222XE 0.08 mg/L0[ 5} 0.020 52 ZUrRE 500 mg/£0[ 5} 114
23.1,1,1-E2|Z2 =20l 0.1 mg/L0|5t =4dE 53.& 0.3 mg/£0[ 3t =4dE
24 HEZI2 2203l | 0.01 mg/L0|3F EHZE [54.27F 0.05 mg/f0lst] =HE
25 Ez|EZ 2o 2al 0.03 mg/£0[5t =4dE 55 &t 0.5 mg/£0[ 3t 0.06
26. 22 2C|Z22ZZM & 0.03 mg/L0]| St 0.006 56.&2H4H0] 2 200 mg/40[ 5t 3
27T CIEZERE2ZZH & 0.1 mg/40l 5} =4dE 57. YF0o|s 0.2 mg/£0| st 0.04
28.C|2Z =M Et 0.02 mg/L0[ 5} =4dE 58.1,4-Cto| =2t 0.05 mg/£0[5t =4dE
29 HI7 0.01 mg/L0l5t EHZE [59.ZELOISI= 0.5 mg/g0lst EHE
30. ¢ 0.7 mg/f0lst] =#HZE |60.EF4Y 0.01 mg/f0lst] =HE

S 3 S| gt

« 20184 18 1247 SEES MM 1EF(EFLH)




